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&S R 4 2% | TimH DR jmj:afé R 4 THwMASDKE | 5 ﬁwkéjé B 4 2% | LiEHSOHE ﬁwxéfé & 4 LImALDLE | & | AOKRES
(m) (m) (kN/mm) Bt (m) (m) (kN/ ) (m) (m) (kN/r) (m) (m) (kN/rm)
7 100kN/MZ#825 | 1.00 | 000 ~ 0.69 110.27 |3m%F{BZ5D — -~ ; 100kN/m#E#BZ25 | 1.00 | 1085 ~ 1308 110.27 |3mEHBZD ~
Fhst 1.00 1 069 ~ 847 100.00 | #hdst | 000 ~ 847 | 207 11.08 Fhst 1.00 | 6,00 ~ 1085 100.00 | #hst | 500 ~ 13.08| 2.07 11.08
2 100kN/mM&#BZ5 | 1.00 | 000 ~ 057 10845 |3mEHBZb ~ 100kN/m#E#Z5 | 1.00 | 11.15 ~ 13.09| 10845 |3m&E8i5 ~
Thst 1.00 | 057 ~ 835 100.00 | #hiast | 000 ~ 835| 203 10.87 Fhist 1.00 | 6,00 ~ 1115 100.00 | #hs | 500 ~ 1309 203 10.87
3 100kN/mi%#825% | 1.00 )| 000 ~ 010 10148 |3m&8BZ3| — ~ = == — | 100kN/m%E#BZ5 | 1.00 | 1264 ~ 1306 101.48 |3mE¥BZ5 -~ — — —
Thst 1.00 010 ~ 789 100.00 | #hiast | 000 ~ 789 1.93 10.34 Fhist 1.00 | 6,00 ~ 12064 100.00 | #ndst | 6,00 ~ 1306)| 1.93 10.34
4 100kN/m&#Z5 | 1.00 | 000 ~ 061 109.09 |3m%x#EZH| — ~ — — — | 100kN/m%E#Z5 | 1.00 | 1058 ~ 1237 109.09 |3mE¥Zi5 - ~ — — —
Thst 1.00 | 061 ~ 840 100.00 | #hdst | 000 ~ 840 | 214 11.44 Fhst 1.00 | 6.00 ~ 1058 100.00 | #hs | 500 ~ 1237 214 11.44
5 100kN/mZ#825 | 1.00 | 000 ~ 248 13883 |3m&EHBZB| — ~  — — — | 100kN/M%&#8Z 5| 1.00 | 1058 ~ 2214 | 13883 |3m%E#BA5 — ~ = — —
Fhilst 1.00 | 248 ~ 1026 100.00 | #hst | 000 ~ 1026| 265 14.16 Fhist 1.00 | 6.00 ~ 1058 100.00 | #hs | 500 ~ 2214 | 265 14.16
P 100kN/m#Z#8%5 | 1.00 | 0.00 ~ 181 127.84 |3m%FBZ2D| — ~ o s — | 100kN/m%E#BZ5 | 1.00 | 1069 ~ 1794 127.84 |3mE¥Z5 — o~ — — ==
Thst 1.00 | 1.81 ~ 960 100.00 | #hlst | 000 ~ 9.60| 228 1222 Fhist 1.00 | .00 ~ 1069 100.00 | #hus | 500 ~ 1794 228 1222
7 100kN/m&#825 | 1.00 | 000 ~ 1.81 127.85 |3m%E#B2 % -~ — — 100kN/m#E#BZ25 | 1.00 | 1066 ~ 1692 127.85 |3mEHBZD - ~ — —
Thst 1.00 | 1.81 ~ 960 100.00 | #hst | 000 ~ 960 242 12.95 Fhist 1.00 | 6.00 ~ 10.56 100.00 | #hs | 500 ~ 1692 242 12.95
3 100kN/m#Z#8Z5 | 1.00 | 000 ~ 1.34 120.36 |3m%E#BZ2 % -~ — — | 100kN/m%#8%2% | 1.00 | 11.10 ~ 1654 | 120.36 |3m%E#BZ5 - ~ — — —
Thst 1.00 | 134 ~ 913 100.00 | #hdst | 000 ~ 913|221 11.584 Fhst 1.00 | 600 ~ 11.10 100.00 | #hps | 500 ~ 1654 | 221 11.84
9 100kN/ Mm% % % — — ~ = —|3mEBZB| — ~ = = — | 100kN/m%# % % = — ~ = —|3mZEBZ D — o~ = — =
Thst 1.00 | 000 ~ 467 5817 | #hust | 000 ~ 000 1.62 8.66 Fhist 1.00 | .00 ~ 5.00 5817 | #hst | 500 ~ 500\ 1.62 8.66
100kN/ %25 ~ 3m%EHBZD ~ 100kN/m%#8 %% ~ 3ImEFHBRD ~
Fhilst ~ Fhilst ~ Fhist ~ Fhilst ~
100kN/ M%# 2% ~ 3m%EHBZD ~ 100kN/m%#8 %% ~ 3ImEFHBRD ~
Fhilst ~ Fhilst ~ Fhist ~ Fhilst ~
100kN/ M %# 2% ~ 3m%EHBZD ~ 100kN/m%#8 %% ~ 3ImEFHBRD ~
Fhilst ~ Fhilst ~ Fhist ~ Fhilst ~
100kN/ Mm% % % ~ 3m%EHBZD ~ 100kN/mM%#8 %% ~ 3ImEFHBRD ~
Fhilst ~ Fhilst ~ Fhist ~ Fhilst ~
100kN/ %25 ~ 3m%EHBZD ~ 100kN/m%#8 %% ~ 3ImEFHBRD ~
Fhilst ~ Fhilst ~ Fhist ~ Fhilst ~
100kN/ %25 ~ 3m%EHBZD ~ 100kN/m%#8 %% ~ 3ImEFHBRD ~
Fhist ~ zhst ~ Fhs ~ Fhist ~




